A Problem of Log-linearization

The following equation is from a DSGE model with a shadow banking sector,
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χ t = ρχχ t−1 + 1− ρχ( )αχ nt+1



H ,h − nH ,h( )










 

 

c

t

=r

c

c

t-

1

+

1

-r

c

( )

a

c

n

t+

1

H

,

h-

n

H

,

h

( )


and in this equation 
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represents the steady state of 
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But I really have no idea how to do the log-linearization of this equation as the steady state of 
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is zero (namely, 
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I’m a beginner of DSGE model. It’s very kind of you for helping me solve this problem.
Thank you so much.
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